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1. (a) ¶ÛÛ¨ÛÛïõàýÛ ÍÛÛéþùÛ…Ûé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÍÛ¾ÛýÛ …¶Ûé Í¬ÛÇ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain relevance of time and space in context to Financial Transactions. 

…¬ÛÈÛÛ/OR 

  ›Û¾Ûà¶Û•ÛàÁõà…Ûé¶ÛÛ Ýïõ¾Û©Û ºéõÁõºõÛÁõÛé …¶Ûé ©Ûé¶Ûä× ÍÛ×˜ÛÛÅÛ¶Û ÍÛ¾Û›ÛÈÛÛé. 

  Discuss Volatility (Changes in prices of securities) and it’s management. 

 (b) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Answer any two in brief : 

  (1) ¶ÛÛ¨ÛÛïõàýÛ ÍÛÛéþùÛ…Ûé ¾ÛÛ¤éø ÈÛÇ©ÛÁõ¶ÛÛé ”ýÛÛÅÛ ˜Û˜ÛÛë. 

   Discuss the concept of reward from Financial Transactions. 

  (2) ›Ûé ïä. …×›÷ÅÛà 7 ÈÛÌÛÙ ÍÛäµÛà þùÁõ ÈÛÌÛë ` 10,000/- ›÷¾ÛÛ ïõÁéõ …¶Ûé ÈýÛÛ›÷¶ÛÛé þùÁõ 10% ÐüÛéýÛ 
©ÛÛé ©Ûé¨Ûé ïõÁéõÅÛÛ …Û ÈÛÌÛÛÙÍÛ¶Û¶Ûä× ½ÛÛÜÈÛ ¾ÛæÅýÛ ïéõ¤øÅÛä× ÐüÉÛé ? 

   If Ms. Anjali deposits ` 10,000/- every year for 7 years at 10% interest rate 
then what would be the future value of this annuity ? 

  (3) ¶ÛÛ¨ÛÛïõàýÛ ÍÛÛéþùÛ…Ûé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ›Ûé”Û¾Û ÍÛ×˜ÛÛÅÛ¶Û¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 

   Explain Risk Management for Financial Transactions. 

 (c) ïõÛéˆ¸Û¨Û ¼Ûé¶ÛÛ …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  Answer any two in one or two sentences : 

  (1) Š¸Û›÷ þùÁõ •Û¨ÛÈÛÛ¶Ûä× ÍÛæªÛ ÅÛ”ÛÛé. 

   Write an equation to calculate Yield Rate. 

  (2) ¤ÖøÛ¶ÍÛÅÛéÉÛ¶Û ÁõàÍïõ (›Ûé”Û¾Û) …é¤øÅÛé ÉÛä× ? 

   What is Translation Risk ? 

  (3) ïõ¾¸ÛÛŠ¶¦øá•Û ¸Û±ùÜ©Û ³ùÛÁõÛ ÈÛ©ÛÙ¾ÛÛ¶Û ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶Ûä× ½ÛÛÜÈÛ ¾ÛæÅýÛ •Û¨ÛÈÛÛ¶Ûä× ÍÛæªÛ ÅÛ”ÛÛé. 

   Write an equation to calculate future value of present cash flow by 
compounding process. 
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2. (a) ›Ûé”Û¾Û¾Ûäî©Û ÈýÛÛ›÷þùÁõ ÍÛ¾Û›ÛÈÛà ›Ûé”Û¾Û …¶ÛäïæõÜÅÛ©Û ÈýÛÛ›÷þùÁõ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 7 

  Discuss Risk free interest rate and the concept of risk adjusted interest rate. 

     …¬ÛÈÛÛ/OR 

  ÈýÛÛ›÷þùÁõ¶ÛÛ ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ¶ÛÛ× ÜÈÛÜÈÛµÛ ÜÍÛ±ùÛ×©ÛÛé ÍÛ¾Û›ÛÈÛÛé. 

  Explain various capital structure theories of Interest rate. 

 (b) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Answer any two in brief : 

  (1) ` 4,000/- ¶ÛÛé ïäõ¸Û¶Û ¼ÛÛé¶¦ø ›÷é 1 ÈÛÌÛÙ ¸Û™öà ˜ÛæïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛ¶ÛÛÁõ ™öé ©Ûé 12% ¶ÛÛ 
…µÛÙÈÛÛÜÌÛÙïõ ÈýÛÛ›÷¶ÛÛ þùÁéõ ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé ©ÛÛé ©Ûé¶ÛÛé …ÍÛÁõïõÛÁõïõ ÈýÛÛ›÷þùÁõ •Û¨ÛÛé. 

   12% coupon bond of ` 4,000/- repayable after 1 year is issued with semi-
annually interest rate. Calculate Effective Interest Rate (EIR) for it. 

  (2) Í¸ÛÌ¤ø ÈýÛÛ›÷þùÁõ …¶Ûé ÍÛæÜ˜Û©Û ÈýÛÛ›÷þùÁõ ÍÛ¾Û›ÛÈÛÛé. 

   Explain explicit interest rate and implicit interest rate. 

  (3) Š¸Û›÷Áéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 

   Discuss Yield Curve. 

 (c) ïõÛéˆ¸Û¨Û ¼Ûé¶Ûé …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé : 3 

  Answer any two in one or two sentences : 

  (1) ÉÛæ¶ýÛ ïæõ¸Û¶Û ¼ÛÛé¶¦ø …é¤øÅÛé ÉÛä× ? 

   What is meant by Zero Coupon Bond ? 

  (2) ÈÛÛÍ©ÛÜÈÛïõ ÈýÛÛ›÷þùÁõ …é¤øÅÛé ÉÛä× ? 

   What is Real Interest Rate ? 

  (3) ˆ¶¤øÁéõÍ¤ø Í¸Ûóé¦ø …é¤øÅÛé ÉÛä× ? 

   What is Interest Spread ? 

 

3. (a) …éïõ Ýïõ¾Û©Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé : 7 

  Explain the law of one price. 

   …¬ÛÈÛÛ/OR 

  ¼Û›ÛÁõ ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé ÍÛ¾Û›ÛÈÛÛé. 

  Explain the principles of Market Valuation. 
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 (b) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Answer any two in brief : 

  (1) ÍÛàµÛà ÅÛà¤øà¶Ûà ¸Û±ùÜ©Û …é¤øÅÛé ÉÛä× ?     

   What is Straight Line Method ? 

  (2) ïõÛýÛÙ“Û¾Û ¼Û›ÛÁõ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûä× ¶Û¼ÛÇä× (ÈÛàïõ) ÍÈÛÄõ¸Û ÉÛä× ™öé ?    

   What is weak form of efficient market hypothesis ? 

  (3) ÍÛàÍ¤éø¾Ûé¤øàïõ ›Ûé”Û¾Û …é¤øÅÛé ÉÛä× ? 

   What is Systematic Risk ? 

 (c) •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× …Û¸ÛÛé.  3 

  Answer any two in one or two sentences : 

  (1) ¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé ÁõàÍïõ (›Ûé”Û¾Û) …é¤øÅÛé ÉÛä× ? 

   What is Portfolio Risk ? 

  (2) ¸ÛÛïõ©Ûà ¾Ûäþù©Û¶ÛÛ Š¸Û›÷þùÁõ¶ÛÛé …¬ÛÙ ÉÛä× ™öé ? 

   What is meant by Yield To Maturity (YTM) ? 

  (3) …ÛÜ¼ÛÙ¤Öéøœ×÷•Û …é¤øÅÛé ÉÛä× ? 

   What is meant by Arbitraging ? 

 

4. (a) ¼ÛÛýÛ¶ÛÛéÜ¾Û…ÅÛ ¾ÛæÅýÛÛ×ïõ¶Û ¾ÛÛé¦éøÅÛ ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain Binomial Valuation Model. 

    …¬ÛÈÛÛ/OR 

  ¦éøÜÁõÈÛé¤øàÈ¡ö¶ÛÛé …¬ÛÙ …¶Ûé ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 

  Explain meaning and characteristics of Derivatives. 

 (b) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Answer any two in brief : 

  (1) ÈÛÛýÛþùÛ …¶Ûé …Ûé¸ÉÛ¶Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÅÛ”ÛÛé. 

   Write the differences between futures and options. 

  (2) ÈÛÛéÁõ¶¤ø¶ÛÛé …¬ÛÙ ÉÛä× ™öé ? 

   What is meant by Warrants ? 

  (3) Í¤øÛéïõ ˆ¶¦éø“Û …ÛÜ¼ÛÙ¤Öéø›÷¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ÍÛ¾Û›ÛÈÛÛé. 

   Explain valuation of Stock Index Arbitrage. 
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 (c) ïõÛéˆ¸Û¨Û ¼Ûé ÜÈÛÉÛé …éïõ-¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 3 

  Answer any two in one or two sentences : 

  (1) ïõÛñÅÛ …Ûé¸ÉÛ¶Û …é¤øÅÛé ÉÛä× ? 

   What is Call Option ? 

  (2) ÁõÛˆ¤ø …é¤øÅÛé ÉÛä× ? 

   What is meant by Rights ?   

  (3) ÍÈÛÛȩ́ Û¶ÛÛé …¬ÛÙ ÉÛä× ™öé ? 

   What is meant by Swaps ? 

 

5. ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé :  14 

 Answer the following : 

 (1) ›Ûé Ü¾Û. ¾ÛÛÍÛæ¾Û ¼Ûé ÈÛÌÛÙ ¾ÛÛ¤éø 10%¶ÛÛ ÈýÛÛ›÷¶ÛÛ þùÁéõ …¾Ûäïõ Áõïõ¾Û ÁõÛéïéõ ™öé ïéõ ›÷é¬Ûà ¼Ûé ÈÛÌÛÙ ¸Û™öà ` 

1,210 ¾ÛéÇÈÛé ™öé. ©ÛÛé ©Ûé Áõïõ¾Û ïéõ¤øÅÛà ÐüÛéýÛ ?  

  If Mr. Masoom has received ` 1,210 after investing some amount for two years 

at 10% interest rate then what should be that amount ? 

  (a) ` 1,000 (b) ` 1,010 (c) ` 910 (d) ` 1,110 

 (2)  ÈÛÌÛÛÙÍÛ¶Û¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ •Û¨ÛÈÛÛ¶Ûä× ÍÛæªÛ ÉÛä× ™öé ? 

  (a) PV = A 



(1 + r)n – 1

r  (b) PV = A 




1 – 

1
(1 + i)n | r  

  (c) PV = A 




1 + 

1
(1 + i)n | r  (d) PV = A 



(1 + r)n + 1

r   

  What is an equation to calculate present value of annuities ? 

  (a) PV = A 



(1 + r)n – 1

r  (b) PV = A 




1 – 

1
(1 + i)n | r  

  (c) PV = A 




1 + 

1
(1 + i)n | r  (d) PV = A 



(1 + r)n + 1

r  

 (3)  ›Ûé ÈýÛÛ›÷þùÁõ 10% ÐüÛéýÛ …¶Ûé ` 2,000 ÁõÛéïõÈÛÛ¾ÛÛ× …ÛÈÛé ©ÛÛé ïéõ¤øÅÛÛ ÈÛÌÛë ¼Û¾Û¨ÛÛ ¬ÛÛýÛ ?  

  (a) 7.2 ÈÛÌÛÙ (b) 5.2 ÈÛÌÛÙ (c) 6 ÈÛÌÛÙ (d) 5 ÈÛÌÛÙ 

  What would be the time period to double ` 2,000 if interest rate is 10% ? 

  (a) 7.2 years (b) 5.2 years (c) 6 years (d) 5 years 
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 (4)  ›Ûé”Û¾Û –Û¤øÛ¦øÈÛÛ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ¶ÛÛ …ÛµÛÛÁéõ ïäõÅÛ ›Ûé”Û¾Û ïõˆ ÈýÛæÐüÁõ˜Û¶ÛÛ¬Ûà –Û¤øÛ¦øà ÉÛïõÛýÛ ? 

  (a) ÍÛÛˆÜîÅÛïõÅÛ   (b) …éÜ¶¤øÍÛÛˆÜîÅÛïõÅÛ 

  (c) ïõÛŠ¶¤øÁõ ÍÛÛˆÜîÅÛïõÅÛ  (d) ¸ÛÛéÍ¤ø ÍÛÛˆÜîÅÛïõÅÛ  

  According to risk reduction strategy, total risk can be reduced by  

  (a) Cyclical strategy  (b) Anticyclical strategy 

  (c) Counter-cyclical strategy (d) Postcyclical strategy 

 (5)  ÅÛÛé¶Ûé¼ÛÅÛ º×õ¦ø¶ÛÛ (ÜµÛÁõÛ¨Û ½Û×¦øÛéÇ¶ÛÛ) ÜÍÛ±ùÛ×©Û …¶ÛäÍÛÛÁõ ÈýÛÛ›÷þùÁõ ©ýÛÛÁéõ –Û¤éø ïéõ šýÛÛÁéõ  

  (a) ¶ÛÛ¨ÛÛ¶ÛÛé ¸ÛäÁõÈÛ¥øÛé –Û¤éø  (b) ¶ÛÛ¨ÛÛ¶ÛÛé ¸ÛäÁõÈÛ¥øÛé ÈÛµÛé 

  (c) ¶ÛÛ¨ÛÛ¶Ûà ¾ÛÛ×•Û ÈÛµÛé  (d) ¶ÛÛ¨ÛÛ¶ÛÛé ¸ÛäÁõÈÛ¥øÛé ÜÍ¬ÛÁõ ÁõÐéü  

  According to lonable fund theory, interest rate decreases if  

  (a) Supply of money decreases (b) Supply of money increases 

  (c) Demand for money increases (d) Supply of money is constant 

 (6)  ïõýÛÛé ÈýÛÛ›÷þùÁõ ¾Ûäî©Û ÈýÛÛ›÷þùÁõ ™öé ?  

  (a) ¼Ûêïõ þùÁõ (b) Áéõ¸ÛÛé þùÁõ (c) ÜÁõÈÛÍÛÙ Áéõ¸ÛÛé þùÁõ (d) ïõÛñÅÛ ¾Û¶Ûà þùÁõ  

  Which is the free interest rate ? 

  (a) Bank rate   (b) Repo rate 

  (c) Reverse repo rate  (d) Call money rate 

 (7)  ›Ûé ¶ÛÛ¨ÛÛïõàýÛ ÈýÛÛ›÷þùÁõ 10% ÐüÛéýÛ …¶Ûé ÁõàÍïõ ¸Ûóà¾ÛàýÛ¾Û 2% ÐüÛéýÛ ©ÛÛé …¶ÛäïæõÜÅÛ©Û ÈýÛÛ›÷þùÁõ 
ïéõ¤øÅÛÛé ÐüÛéˆ ÉÛïéõ ? 

  If nominal interest rate is 10% and risk premium is 2% then the adjusted interest 

rate would be  

  (a) 12% (b) 8% (c) 10% (d) 2% 

 (8)  ›Ûé …éïõ ÈÛÌÛÙ ¾ÛÛ¤éø¶ÛÛé ÉÛæ¶ýÛ ïæõ¸Û¶Û ¼ÛÛé¶¦ø ïéõ ›÷é¶Ûä× ¸ÛÛïõ©Ûä× ¾ÛæÅýÛ ` 1,500 ÐüÛéýÛ …¶Ûé ©Ûé¶Ûà ¸ÛÁõ 
ÈýÛÛ›÷¶ÛÛé þùÁõ 10% ÐüÛéýÛ ©ÛÛé ©Ûé¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û Ü¦øÍïõÛŠ¶¤éø¦ø ¾ÛæÅýÛ ïéõ¤øÅÛä× ÐüÉÛé ?  

  If the interest rate is 10% then the current discounted value of ` 1,500 maturity 

value zero coupon bond of 1 year period will be  

  (a) ` 1,563-64 (b) ` 1,463-64 (c) ` 1,363-64 (d) ` 1,263-64 
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 (9)  ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û ¾ÛæÅýÛÛ×ïõ¶Û¶ÛÛ ¾ÛÛé¦éøÅÛ …¶ÛäÍÛÛÁõ ˆÜîÈÛ¤øà ¸ÛÁõ …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ þùÁõ % ¼ÛÁõÛ¼ÛÁõ 

  (a) g (Rm – Rf)   (b) g (Rm + Rf)  

  (c) Rf + i (Rm + Rf)  (d) Rf + i (Rm – Rf)  

  According to Capital Assets Pricing Model (CAPM), expected return on equity 
in % is equal to 

  (a) g (Rm – Rf)   (b) g (Rm + Rf)  

  (c) Rf + i (Rm + Rf)  (d) Rf + i (Rm – Rf)  

 (10)  …ÛÜ¼ÛÙ¤Öéøœ×÷•Û Ýïõ¾Û©Û ¬ÛàýÛÁõà ïõÛé¶ÛÛ ³ùÛÁõÛ ÜÈÛïõÍÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà ? 

  (a) Í¤øàºõ¶Û ÁõÛñÍÛ (b) ÜÈÛÜÅÛýÛ¾Û ÉÛÛ¸ÛÙ (c) …é¦ø¾Û ÜÍ¾Û¬Û (d) šÐüÛé¶Û Í¤äø…¤Ùø  

  Arbitraging pricing theory was developed by 

  (a) Stephen Ross   (b) William Sharpe  

  (c) Adam Smith   (d) John Stuart 

 (11)  ÉÛéÁõ¶ÛÛ ˜ÛÛé¸Û¦éø Ýïõ¾Û©Û ïõÁõ©ÛÛ ©Ûé¶Ûà ÈÛµÛÛÁéõ ¼Û›ÛÁõ Ýïõ¾Û©Û þùÉÛÛÙÈÛé ™öé ïéõ 

  (a) ÍÛ×¸ÛÜ«Û¶Ûä× ¤ø¶ÛÙ…ÛéÈÛÁõ ³ùÛÁõÛ ÍÛ×¸ÛÜ«Û¶ÛÛé ïõÛýÛÙ“Û¾Û Š¸ÛýÛÛé•Û ¬ÛýÛÛé ™öé ©ÛéÈÛä× ›÷¨ÛÛýÛ 

  (b) ÍÛ×¸ÛÜ«Û¶ÛÛé …Ûé™öÛé Š¸ÛýÛÛé•Û ¬ÛýÛÛé ™öé. 

  (c) ï×õ¸Û¶Ûà¶Ûà ÐüÛÅÛ©Û ¼ÛÁõÛ¼ÛÁõ ¶Û¬Ûà. 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¶ÛÐüá  

  If market value of share is greater than it’s book value then it represents. 

  (a) Efficient use of assets reflected by asset turnovers. 

  (b) Poor use of assets 

  (c) The company is not in good condition. 

  (d) None of above 

 (12)  ÈýÛÛ›÷þùÁõ ÍÈÛÛé¸Û …é ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× ¼Ûé ÈÛ˜˜Ûé¶ÛÛé ïõÁõÛÁõ ™öé ›÷é¾ÛÛ× 

  (a) ¼Û×¶Ûé ÈýÛÛ›÷þùÁõ ÜÍ¬ÛÁõ ™öé   

  (b) ¼Û×¶Ûé ÈýÛÛ›÷þùÁõ ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ™öé. 

  (c) …éïõ ÈýÛÛ›÷þùÁõ ÜÍ¬ÛÁõ ™öé …¶Ûé ¼Ûà›Ûé ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ™öé.  

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü.  

  Interest rate swaps is a contract between the cash flow situation in which 

  (a) both interest rates are fixed 

  (b) both interest rates are floating 

  (c) one interest rate is fixed and another is floating  

  (d) none of above 
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 (13)  ÁõÛˆ¤ø¶Ûä× ¾ÛæÅýÛ ¼ÛÁõÛ¼ÛÁõ 

  (a) 
¼Û›ÛÁõ Ýïõ¾Û©Û – …ÛéºõÁõ Ýïõ¾Û©Û

1 – R  (b) 
¼Û›ÛÁõ Ýïõ¾Û©Û + …ÛéºõÁõ Ýïõ¾Û©Û

1 + R  

  (c) 
¼Û›ÛÁõ Ýïõ¾Û©Û – …ÛéºõÁõ Ýïõ¾Û©Û

1 – R2  (d) 
¼Û›ÛÁõ Ýïõ¾Û©Û – …ÛéºõÁõ Ýïõ¾Û©Û

1 + R   

  Value of right is equal to 

  (a) 
Market Price – Offer Price

1 – R  (b) 
Market Price + Offer Price

1 + R  

  (c) 
Market Price – Offer Price

1 – R2  (d) 
Market Price – Offer Price

1 + R  

 (14)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¦éøÜÁõÈÛé¤øàÈÛ ÍÛÛµÛ¶Û ™öé. 

  (a) ÈÛÛéÁ×õ¤ø   (b) ÍÛÜ¤ÙøÜºõïéõ¤ø …Ûéºõ ¦øà¸ÛÛé¡öà¤ø  

  (c) ˆÜîÈÛ¤øà   (d) ïõÛé¾ÛÜÉÛÙýÛÅÛ ¸Ûé¸ÛÁõ  

  Which of the following is a derivative instrument ? 

  (a) Warrant   (b) Certificate of deposit 

  (c) Equity   (d) Commercial paper 
 

 
_____________ 
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